W09 NOYSOBYM} MMM

Model LHA jhEREBIiE§ AL

59

BT TE

xRt
036: ¢D=36mm © ¢D=65mm
040 ¢D=40mm 1 ¢D=75mm
048 : ¢ D=48mm #D=90mm
055: ¢D=55mm 105: ¢D=105mm

HRTAMAED FHNIMIRF($D)

RESR
CHRR(HBCREIET)
GRS HBRER T
SUMRER (RO

RIREF IR S5

=X
~ ,
w

& &

1L EERWME (BZL) , @RASTHE.
2. FREH.

&

SMLERL

RIS

‘ ‘ ot ‘
misteEn

R: WGE5 £ 75 6
LBt e

(27 1P:F

R L
o N\ s
[ J

SR R

M et et )

x

[sEimEd
WAW: BT BRETERD) P
3 SEED

Model LHA shER{EEIHER T

LU LHA0360 LHA0400 LHA0480 LHA0550
REHOLER m? 354 500 695 103
METAE mm 2 31 37 44
EEAE mm 15 18 22 25
JE— _ P(1-00021xL) | __ P(1-00016XL) P (1-0.0009xL) P (1-00011XL)
RN 2.9379+0.0052XL 2.0920+0.0040XL 1.4892+0.0018XL 1.0039+0.0011XL
BHIASOKN JE— Fi= (L2/L3)X0.354XP | Fi= (L2/L3)X0.5%P L2/L3)X0.695%P
F2= (L/L3)X0354%P | Fa= (LI/L3X05XP | Fa= (L1/L3)X0.695XP
2imE mm 135 145 155
. HATE  (90°) mm 55 65 75
::wns FHAIE mm 8 8 8
RSB 90" +3°
BERRAERE +05°
BEEAEN MPa 7
BEREES MPa 15
MPa 105
c 0~70
1SO HEB 4 1S0-VG-32 — AR
B o5 LHA0650 LHA0750 LHA0900 LHA1050
S RETER cm? 134 203 295 4.3
S mm 51 62 76 91
BT mm 30 355 45 55
[E— _ P(1-00009xL) | __ P(1-00007xL) P (1-0.0009XL) P (1-0.0008xL)
RN 0.7822+0.0010XL 0.5175+0.0006 XL 0.3547+0.0004XL 0.2495+0.0002XL
GHHEATOKN . Fi=(L2/L)X134xP | Fi=(L2/L3)x2.03%P L2/L3)x2.95%P L2/L3)x4.13%P
- Fa= (L/L3)X1.34%P | Fa= (LI/L3)X2.03XP = (L/L3)X295XP | Fa= (Li/L3)X4.13XP.
2478 mm 20 24 2 32
WG (90) mm 10 2 14 16
nfwwss R mm 10 2 12 16
i RS 90° £3°
R EAE +05°
BEEREN MPa 7
BEBEES MPa 15
03 MPa 105
ERAE © 0~70
(] 1SO MR 1S0-VG-52 — A
(mm)
BT 1050
¢ Hus *1 17 19 23 2 29 35 3 50
SRR AL 8 u | 6 ENERE 38 | a4
C 3 3 4 4 4 4 5 6
D 105 105 125 145 16.5 175 175 205
€ 17| 2087 | 2547 | 287997 | 3447 | 408 | 498 | 6096
F 15 17 21 235 29 33 42 51
G 8 9 ns 13 155 18 225 28
" 490 | 40 | 5egoe | gogon | goqme | geqm | gegen | forgem
et - 2 418 (123 8.3 0166 (18 1) 66 8.5 10| 68 18 1823|1008
< g R
1. R R R I TR TRRL, B, SRR ik
|
FEUHER, AR 3 A IE B 5 b
GEns H1L EBGERHRL (OH), R v GrEATInL it AT

w2, R ERGE LR WEATRE.
#3. PR CRUEHRD FARE, i r airiit.

60

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model LHA hBEfEEHT

CHfizt (MHGIBAUEER)
#¢ Z0[H R RLHA-CRI A SR A2

FERUR 3 0:GARAYL JA,
W CHEETERETLN

L \

El

N ] xR
5 /{ /?ﬁwﬁ'ﬁl

4-0R =
2cmEnm (%) ®i0a
(B-CRIAE &) 05 miEE
BB A 0GRS 8¢

(WA CRERT RS TR SH) REL(LE: 180" )

B i 0:Of &
(-C/-GEY)

REBMIRT

BHAMtHO0P

>
>

FERHHOP

4-EABEEL K

61

Model LHA ShE{EEhiEH

,_
T
>
o

1

(7N N9

r A

ERRRY

mEA

H RESQETE

1 R S YR 1)
A YRR

B8 (W) BAC Xi
= ‘J;KJ_ﬂl
a0 gl
# |
BE (W)
N
4 o
7 |
7 |
|
¢6:8'
£EH #D'Y?
C0.6
|
| T
i [
i [
[
~ - 7
~ T ~

1 2 3
HERTRERSBHUMIRTR
LHA0360-C](] |LHA0400-[1(] |LHA0480-01(] | LHA0550-C](] LHA0650-(1(] LHAO75(
27 135 14.5 15.5 185 20 24
HEWiTiE00° 5.5 6.5 75 85 10 12 14 16
BT 8 8 8 10 10 2 2 16
A 104 15 1285 1455 156 181 203 20
B 49 54 61 69 81 92 107 122
C 40 % 51 60 70 80 % 10
D 36 40 48 55 65 75 EY 105
3 645 715 79 89 % 109 120 144
F 395 46.5 51 59 63 7 74 88
Fu 645 685 775 865 % 0 129 152
G 2 2 2 30 31 38 46 56
H 2 315 355 39 46 52 595 67
J 20 25 255 30 35 40 475 55
K 314 34 40 a7 55 63 75 88
L 66 73 83 88 106 116 136 152
M i n 3 2 3 16 19 2
Nx 235 2 30 335 395 45 525 60
Ny 8 9 n 2 15 16 185 25
P 3 3 3 3 5 5 5 5
Q 75 9 9 n i 1 175 20
R 45 5.5 55 6.8 6.8 9 n 14
s 16 15 175 7 7 2 % 32
T 155 165 175 205 2 2 2 34
U 15 18 2 2 30 355 5 55
v 3 15 18 21 ) 30 37 3
w n 2 % B 16 16 18 19
X(ATRESE) MI4x15 MI6X15 M20X1.5 M2X15 M27x1.5 M30X15 M39X15 M48X15
Y 5 6 8 8 10 10 14 14
2am) (<] a a (<) c4 S5 [ [
AA 2 2 30 2 a 46 55 65
AB 7 8 9 10 n n 2 2
AC 25 265 EE) 355 5 50 60 7l
BA 14 16 19 22 25 31 38 44
88 17 20 2 2 34 40 49 60
A 6 7 9 10 125 14 185 23
(€] 65 65 75 95 ns 125 s 135
« 4 4 5 6 6 8 8 10
EA M4x07 M5%08 M5%08 M6 M6 M8 M0 M2
35 35 35 35 45 45 45 45
14 14 14 4 19 19 22 22
-ont Gi/8 Gi’8 Gi/g GI/8 Gi4 GiA G3/8 G3/8
BEAGEO | sm Rcl/8 Rcl/8 Rel/8 Rl/8 Rcl/4. RCl/4 Rc3/8 Rc3/8
AEE | o1 R1/8 RI/8 R/ RI8 R1/4 R1/4 R3/8 R3/8
OWEHE(-C/-CF) 1BP5 1BP5 1BP5 18P5 18P7 18P7 18P7 18P7
WIER R 48 73 108 9 27 487 766 1321
| BiE 72 109 167 281 40.9 725 179 2081
Ef kg 07 09 14 2 29 42 72 101
62

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model LHA jhBE/EE)HEE L

CiHfizt (MHFGIRAUER)

% 7 [E FRLHA-CRDEI A Sk B8

TR (i 0: GIRAL

(@ CHRATERATZYM)

2-GESUET (M)

(cnES)

TEHE A {50 0 GIRAL
@A CNERTRRA R

A i O
(-CI-GE)

63

e A {0 0O H @ ()
-GE)

6 CCR” migwmts

REL (LE.

180 ° 85

R (HB) ac

] o
e s 1
H
® Il
E () f
= $BB
I
- ——
] 5L = su
= !
4 { Uy I
|
u 604}
N I
$DA,
q |
o
E Voo
@ L
f
oo
=EH ¢D*Y?
6.35 C0.6

Model LHA jmBEEEEEE

LHI\E%?HOl-[E}iiHII

EERYT

B st

Bl RIS E
I )75 5t (RBOE)
PR SR

AYRTRERBUMIR TR .
0| LHA0400-C1(] | LHA0480-(1[] | LHA0550-(](] | LHA065
135 14.5 155 18.5 2 4 26 3.
55 6.5 75 .5 1 2 14 1
8 8 8 1 2 12 1
114.5 128 141.5 1585 il 194 21,
B 4 8 2 il
C 15 7 0 9!
D 0 5 9
E 745 12 12 14;
F 12 49.5 74 7 91
Fu 64.5 68.5 86.5 1 129 152
G 25 5 3 46 56
H 29 315 3 59.5 67
J 20 225 3 47.5 55
K 314 34 4 75 88
L 66 73 8 116 136 152
M 1 n 2 9 22
Nx 235 26 335 45 52.5 60
Ny 8 9 2 16 185 225
P 3 3 3 3 5
Q 75 9 9 1 14 175 0
R 45 55 55 .8 9 14
S 16 15 175 7 1 2
T 155 16.5 175 205 6 4
u 15 18 2 5 355 5
v 13 15 8 1 0 13
w 11 12 4 5 6 8 19
X(A ) M14x1.5 M16X1.5 M20x1.5 M22x1.5 M27X1.5 M30x1.5 M39x1.5 M48x1.5
5 6 8 8 10 10 1
(@] a a a 4 Ce
22 24 32 6!
7 8 10 1
245 265 35. 7
14 16 1 2.
17 20 2! 2 4 0
6 7 9 1 125 4 18.5 3
6.5 6.5 75 9.! 1.5 125 1.5 135
4 4 5 6 6 8
8 12 14 4 14 18 8
8 10 10 10 10 10 10
25 3 3 3 3 3 3
25 29 36 36 43 50 65
M4x0.7x10 M6x15 M8x18 M8x18 M8x18 M10x21 M10x21 M10x21
6 10 12 12 12 16 16 6
M4x0.7 M5x0.8 M5x0.8 M6 Mé M8 M10 12
35 35 35 35 45 45 45 5
14 14 14 14 19 19 22 2
G1/8 G1/8 G1/8 G1/8 G1/4 Gl/4 G3/8 G3/8
Rcl1/8 Rc1/8 Rc1/8 Rc1/8 Rcl/4 Rcl1/a Rc3/8 Rc3/8
R1/8 R1/8 R1/8 R1/8 R1/4 R1/4 R3/t R3/8
1BP5. 1BPS. 18P5. 1BPS. 18P7. 18P7. 18P 1BP7.
48 73 10.8 19 267 48.7 76.¢ 1321
6.5 9.3 143 253 378 66.4 1. 200
07 09 14 2 3 4.2 73 103

64

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

S R+

FERUR it O:GHREL A B
WA CHERTRRATIE

R

\9(’#55

Jﬁ'ﬁﬂ
L
2-CREMTME) o8

cuER wilsa

TRk 0GR dcctl®  mim
W CHRRTE R

AA

REL (LA 180 R

Nx

P A i OO F B (H B)
(-C-GE)

TR 50 0: O 1 B 1 )
(-C/-GAl)

REBMIR
Nx

ERAH#EOCP [(—)1
REMGEOP

4-EABBAL LK

SREERERHY

& EEERERES: 0.2Mpa,
& HEERRSAE, REERSMUAT,
& BRRANIESTERESRUBE.

HEH®)

5L

MLLE

mHEZAO
o sowEnm
= LY
#ED A
CARE (MiHGIZAIEER)
s¢ A [E| R RLHA-CRMEYH 5k A
EEM
635 06
M
= il LRES .
i i
=| : -
) OMAN =%
2 = [ =
2l o
I’ .
= z
B Nee,
§ ? | -
e/;ﬂ/i ]JL 294~6
El &) H: .
g
E

& FEEMTEREAMA, AR E S R E R ELE ML
& BERERMEREREREDAMRD, BARZAHEOL, WHER, {EMAR2EEFNBIERE.
& HEROWARARHRY, HBIELAR, TIBRSEAN, HRO—BEE, SRERERTHRRHE,

65

24
‘ \trgo

Model LHA jhBE{RENHES £

©
LHA 036 0 - G
S
B

rAa

S R RREBIMITRTER

ERRT
REAN

RSB S )
B SR EMALE)

TR IR 7 SRR 1RET)

71 135 145 155 1 20 2 2 3:
HER71290" 65 7l 10 12 14 1
SETIE 8 10 12 12 1
A 104 115 1285 1455 156 181 203 24
B 4 81 % 107 12,
C 5 7 80 9 110
) 0 75 [ 105
E 645 715 109 12 144
F 395 465 5 7 7 88
F 645 685 775 865 1 12 152
5 4
315 355 595
25 255 475
314 34 5
L 6 73 106 116 136 152
1 1 16 9
ix 25 2% 335 395 a5 525
y 8 9 2 16 185 25
3 3 3 5
5 9 9 1 1 14 175
.5 5 55 .8 8
6 175 7 7 1
155 175 205 2
5 2 0 355
v 3 18 1 4
W 1 14 6 6
X(2#5 X 3885) M14x15 MI6x1.5 M20x15 M22x15 M27x1.5 M30x15 M39x1.5 M48x15
Y 5 6 8 8 10 1 1 1
Z(&A) Q a 3 4 [
A 22 2 2 6!
B 7 8 1
C 245 265 355 7
A 14 16 2 4
B 17 20
[@ 6 7 125 185 3
[ 65 65 Z 5 1.5 125 1.5 135
cc 4 4 5 6
E M4x07 M5x%08 M5X0, M10 2
MAf8 34555 it B i i 5% 6% 6%
e 3453 oo g oo oo g o 0%
B 2 385 385 405 4 4 575
C 357 392 462 462 262 542 542 542
294 575 654 734 794 865 895 106.5
624 705 789 869 929 1 109 12
0 7
49 9 9 72 7.
9 9 1 1
] 45 45 45 EX X
.5 5 8 8 8 1 1 165
734 5 914 994 1054 122 12 147.5
1 5 15 15 15 1 1. 15
J .5 5 35 35 45 4. 4 45
4 4 14 14 19 1 2 2
IR PGHO/ -cal GI/8 GI/8 Gl/8 GI/8 Gl Gl/4 G3/8 G35
EBGGHO -85 Rel/8 Rl/8 Rcl/8 Rcl/8 Relid Rel4 Rc3/8 Rc3/8
mik kg 08 1 16 22 31 45 76 106
66

W02 NOYSORYMI MMM




W09 NOYSOBYM} MMM

Model LHA j#

CiHRzt (MTFGIRAUEER)
s 7B R RLHA-CRETRU A A%

6B PHES
6B PHES
$PCs

R g
L]
<
2-GRIUER (1)
@cuEm

IR i 0 GAREL w
i cHR R R I

6D B}

MO
(-cr-em)

i AMSRRE, HRFR, AARSTEE.

REBULMIR

TR (s O oP

" D03
& ) EEH Do

NYNYJ
o
2
%
38
a

FREM M OOP

O

4-EARREL K

0 ERR+

REHA

SIS i) ]

1 1075 = (R O 564
RARIRRIEPE)

HAwTHE90" 55 65 75 85 10 2 14 16
AT 8 8 8 10 10 12 2 16
A 102 3 1265 1435 156 181 203 238
8 49 54 61 69 81 92 107 122
C 40 45 51 60 70 80 95 110
D 36 40 48 55 65 75 %0 105
E 645 715 79 89 9 109 120 144
F 395 465 51 59 63 7 7 88
Fu 625 665 755 845 93 110 129 150
G 25 2 2 30 31 38 46 56
H 29 315 355 39 46 52 595 67
J 20 25 255 30 35 40 475 55
K 314 34 40 a7 55 63 75 88
L 66 73 83 88 106 116 136 152
M n 1 3 12 3 16 19 2
Nx 235 2% 30 35 395 45 525 60
Ny 8 9 n 2 15 16 185 25
P 3 3 3 3 5 5 5 5
Q 75 9 9 1 i 14 175 20
R 45 55 55 68 68 9 n 14
s 16 15 175 7 7 21 2 32
Y 15 18 2 2 30 355 45 55
2AEm) Q a a a () cs 6 (€
EA M4x07 M5%08 M5X0.8 M6 M6 M8 [ M12
PA 7 8 10 2 14 16 2 2%
PB 135 16 20 3 28 335 3 53
e 6y 670 g 075 FEEd 3T 670 2075
PD 9 i 12 125 165 19 235 255
PE 2 % 275 315 385 35 525 585
PF 2 25 29 3 40 45 54 60
PG 155 165 185 215 2 27 29 34
PH M3X05 M3X05 M4x07 M5X0.8 Mo M6 M8 M8
A 35 35 35 35 45 45 45 45
B 14 14 14 14 19 19 2 2
mRA@MO | o8B Gl/8 Gli8 G1/8 Gl/8 Gli4 Gl G378 G378
mgRgEn | s Rel/8 Ral/8 Rcl/8 Rel/8 Rel/4 Ral/4 Rc3/8 Rc3/8
RREHETR [ o= R1/8 RI/8 RI/8 R1/8 R1/4 RI4 R3/8 R3/8
OREHE(-CI-GH) 18PS 18P5 18PS 18PS 1897 18P7 18P7 18P7
wEER [ xmm 48 73 108 19 267 487 766 1321
| mEs 72 109 167 21 409 725 179 2081
=8 kg 07 09 ) 19 28 4 7 98
68

W02 NOYSORYMI MMM




